| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

Y e
()] = . . . . . . . . .
DOTE

Q N N N N N N N N N
T T S St St B
005

.-~
003

) e o

e o ot e e

Rati

=
!

0955 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

Ft_XMimusPU_Tetramz-towpt

Fit_XiMinusPU_NEWdefault_specPLess1-2-lowpt
Et XiMinusPU_NEWdefault_specPLess2-2-lowpt
F

t—XiMinusPU_NEWdefault_specPLess3-2-lowpt

—— DOM K
0] . _ D M:mk

[ Efficiency vs Dz | | —— DQM™mk
—— DOM™mk

t—XiMinusPU”NEWdefault_specPLess4-2-lowpt
10.05 —T —=E .

&o45
Py
.04
O
€035
()
0.03
0.025
0.02

0.015
0.01 |
0.005 A RO

o+
=

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


